2 {4 4H SECTION : TOWNSHIP :
L: 10413 1 10413 /i 1 6/ :  0.666
$002: 0.491 W2 0074 S ¢ BT :1/15/01
d: 2.441 Fr :0.010763 Gt 6935.1 RS
VOL1: 1020 BPSIAl: 3.2 RESV.TRP  178.1
VoL 2: PSIA 2 :
WL]: PSIA 3¢ SHUY-IE PR= 3213.2
VOL 4 : PSIA 4 ¢
BCR ¢ 671
%R : 188
LIE |RE] RATE 2 RATE ] RATE 4
"152 i) "1t D | C1sE "2 "151 i)

1 o 1.020 1.020{ 0.000 1 0.000 | 0.000 | 0.000 | 0.000 0.000
7 W 534 534 534 534 534 534 534 534
L 638.11 638.1.| 6381 | 638.1| 638.1] 681 638.1 §38.1
{1 586.1 | 586.1| 5861 86,1 | 586.1 | 586.1 | 586.1 586.1

IR (est) 0.48 0.00 0.00 0.00
5 B{est) 0,930 0.922 ERR ERR ERR ERR ERR ERR
6 545.1 § 540.5 IR ERR ERR ERR ERR ERR
7 @/m | 12,723 12.831 ERR ERR ERR ERR ERR ERR
8 e 1.611 | 1.618 ERR ERR ERR ERR ERR ERR
y 15§ 0.379 | 0.382 ERR ERR ERR ERR ERR ERR
10 B 23,2 3232 0.0 0.0 0.0 0.0 0.0 0.0
11 P2 /1000] 1045 | 104.5 0.0 0.0 0.0 0.0 0.0 0.0
12 rr (0010763 [0.010763 {0.010763 |0.010763 10.010763 |0.010763 |0.010763 10.0107631
13 Pe=PrTL | 5.867 ) 5.817 ERR ERR ERR ERR ERR ERR
14 Fca 5.98 5.93 ERR ERR ERR ERR ERR ERR
15 1/8(Fctm)|  35.8 5.2 ERR ERR ERR ERR ERR ERR
16 B |13.58644 |13.44701 ERR ERR ERR ERR ERR ERR
17 w2 18.0 1 117.9 ERR ERR ERR ERR ERR ERR
18 Ps2 190.2 1 190.8 ERR ERR ERR ERR ERR ERR
19 Ps 436.1 415.8 ERR ERR ERR ERR ERR ERR
20 P 318.7 180.0 ERR ERR ERR ERR ERR ERR
A b 0.57 0.57 ERR ERR ERR ERR ERR ERR
2 1.51 1.51 1.51 1.51 1.51 1.51 1.51 1.51
23 1 0.922 1 0.922 ERR ERR ERR ERR ERR ERR
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